I LESSON | )
‘ m Composite Figures

The figure at right is called a composite figure because
itis made up of simple shapes. To find its area, first find
the areas of the simple shapes and then add.

Divide the figure into a triangle and a réctangle.

The base of the triangle
is18 — 13 =5cm.

The height of
the triangle is

18cm

area of triangle: A area of rectangle: A

10 cm?
The area of the whole figure is 10 + 126 = 136 cm2:

18 cm

bh
18(7)

126 cm?

Find the shaded area.

Total Area:
 A=420430=450y4?

A= Lw= 728(15,)?420 7
Az=lw=5(b)=30
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Ax=dw=((2)=12

" _Total Aent
A= 2412=3bm*

A=lu=8(3)=24

Composite Figures continued
You can also find the area of composite figures by using

subtraction. To find the area of the figure at right,
' subtract the area of the square

the rectangle.

-
area of rectangle:

|l Find the ¢

from the area of

area of square:

A= bh A=s
- 12(9) - g

H| =108in? =16in’
! The shaded area is 108 — 16 = 92 in®,

12in



